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All Candidates' performance across questions

Question Title Mean Max Mark Attempt %

la 409 5.5 1.7 8 68.6 46.6

GCE Economics EC4 1134-01

Question
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Facility Factor %



Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.


	WJEC 2015 Online Exam Review
	GCE Economics EC4 1134-01
	Item Level Data
	Facility factor graph
	Question 1
	Mark scheme
	Example 1
	Example 1 marked


	Question 2
	Mark scheme
	Example 1
	Example 1 marked


	Question 3
	Mark scheme
	Example 1
	Example 1 marked


	Question 4
	Mark scheme
	Example 1
	Example 1 marked


	Question 5
	Mark scheme
	Example 1
	Example 1 marked






Leave

Write the two digit question
Answer biank

number inside the boxes next
to the first line of your answer

| & | e dokw glicwrs ws o Greele and
Spad et Lone Mwﬂq expervenced
k\qj& hﬁi‘ﬂs o& M M éf(tumsaﬁmw\eﬁ_
beat e%t@—ctﬁz HMLM‘?{O"/W«V\% Las, el .
Ve geo %(x«i g LedR o?reaﬁ-er r<tes
of  uve vm{?(/m{ W\Qv’Ct %cdﬂ ﬁ e Lurepea
d,%uaéﬂgq W(%\ (L rtice ggv—w\q &2 25,5
Uﬂzujat U""-QVVKP’&MW'L’LI e | QW\A quw
t‘:ﬁ. & uewﬂx unemﬂ{bm NZTE ‘5(7:?’
a@wb&o& e Avernge . nlér-aé-alr(-.,_ukew\;e
Y Lot 2T Cnnd  26.8% »%sqhet"ﬁ\ldq
Whicl s sove o Aoulte e AL
avecegzf Tacs T et o geeel tituati,
o .L,-é \(/\ a,/\__éq CoONLR ,.,n1u7\, Umn~e oS

Bl Eignain o cor S Ap e econgrnty,
Ove of suclh  coels x Hbe |o2¢ }
A%L;(LPWE Witk cuch - Lmvrze P'“DP‘TY"{‘(M
/V‘-"VQ\NL%/(@‘Y—ILQQ (2 % @"‘N‘( ’Zé 8’{\ Hat
= oa o oheke o labow wolach Ts a

S Cave ve=< ouWCQ% 1\VL ‘H-:( ¢ (( Ny MLE‘{

s ‘ﬂxﬂr{‘?—@r‘e -Efet\vuf win e i (1S—€onWﬂ°\‘
et ‘6(><:< Péé’fvwwt# TS Qraﬂ'(LLGTM )|
l+ /Zucqt\we ?&LP"*’ZL‘(‘U d»«cﬂ we "6%6&@%_
"GL:LM,Q V(CL\ a8 émPfq %gl‘&
o) uw:f anol _eactories ALk ‘ave pof
Skzw/\:la L L-h(uaaco :Fuvﬁé-(wvumrfq Wmf(m
(.Amﬁ,vm@(?f’tﬂ\./‘-éo& CovniX ok a g/vreeﬂ@
g_\g@gﬂ c@%@ o e erxv‘iin/ﬂ(‘\_g
63&’» (ﬁr&?Ce LK SP“hu e lav
"\'O ’WCu“eﬁ-&t ‘_?MVVLLMVJ’ CP-@/’/'\@’(W'(L?\
_@F&U\ gev untvma’(mfwiﬁ Levuzﬁﬂ ]
MM rﬂa{Mé_zcﬂ A=A Y VEN U Preva
%cﬁ la cK of WMcenng  fax Lrens Pﬁcﬁa
o vE— @-2 U@tf"“k Aol N@\AQ@@‘Z UAlYfV@WP
%%V"ﬁ%»tweafv«,_ ” qulhd&y spend legg,

2 LT






Write the two digit question Leave
number inside the boxes next Answer blank
to the first line of your answer

I V\.CQQALQQ Cvecce ‘/u.g L\Ax?( quw"ev‘ M UAL H:@
W“/ ?\’LEQMS wo it~ {i‘sagu(
m&,g;z-t rﬁq_&ln et s MgQ sPtilo e gectpy Al

pver  the  (aat 4wy yLevrk aw a
resudt o T eveageof HNLMWVO@

b ?o‘kﬂ\/\i'\\ﬁ.}z TEure—one W.««L’ev—s L ve +o
"E b Convergoule Cvy v el W\u.(z(,
due to e ‘ove— size gits all’ pelicy
M,V\d(é-v\ '{J&Q %Uw’o'(ov&‘ fw& ik

T@ A C’_a«»vdtv*c/ .@a—r é)\z«\,wu.?’e‘l @LW\&Q ‘b(:("J@
Tt Ll W Qz_f.q '\U\C@MM& TMGXLL*OL«
w i thitn @ tc_m—m-m ‘6&( Pv[ ereg
Jeﬁt’;\(ﬁﬂwrfz to Mﬂmr =2  pcoriomte
Mé‘r)’l—/\s res Sﬂ%—oa‘er (‘mw\'év\eq
ww/&l frnal te i ge (veg opPoeed ‘o
‘u":"‘;{: uL)c‘EL\:‘M. M LA tg CUL(QLW CmL»/L"E'V“l/B
.LﬁZ 4-,(,—”» £ ntn— @urozervuz we
p)(,p,ewctm c,gvu /bz%buH‘cn/\ e 2 aaum{‘d'
(eofxw *)—o :QD\V\ with b\.\‘i}k \u\‘FéaDQ\'m
mm.duf\l gu&%ur‘ @\F@Va(u Fronn
€ X ngm\r-c/ NN ZnO ‘Fsmvy -EM (1‘0 Lk
_&Ws_&&% AU
spending , o Tk wrere o part of

‘6;\\{ <€xL VAOZ(MZ

3 TR0
8603





Write the two digit question
number inside the boxes next Answer
to the first line of your answer

ﬁu(&t«\wxﬁ& 4 “&\2 a C@uv&v‘w L\é&ﬂﬁ »
-DLLQ(‘*G g2 ko Hol grecLer o £0%
land then %O\V\\d_a( H’LM—
WL‘HT\G/‘ "H~< + wrozon0 wrewld e l«-ﬁkﬂ&&/\
Je,u 'H—QW\ a8 -@éu(wre Lo s«uckq
pmux\‘:év—u wreulol Lane g‘zathtél ool
L Tvq tplreusstong off txe Frczondt
ﬂf‘a{LM ~o ngkﬂz “-{-SQH‘? ag HR
\wa(qe,-é-eéé ccpﬁ&yutig‘rﬁ wewldd muoe
NN g KT aowmvcéf t)a? OLaé?@ ffFu‘oM

oW »‘\o’u’l w &(me L o c,gw.ych e
_M_ﬂrﬂf = MLE(/C% ot Lo alle
S

< \&%ﬁw y \ﬁ Aa Cﬂ—u,,/:é‘//j w%\
W %«cﬁaﬁw e)xc&aﬁg vefR] s g\abhg_
| fﬁ@l—& &g %, gm;z::v"l/{,&e-cibé@(-— ‘b{tﬁu\ ‘b‘;fnf

wsowdol  nggatnge L agpect  Pluetuating

A «{ﬁ-@. GW ab-uv./*o C LR \/“e-/LCL/..

Leave
blank

4 [T
8604










GCE ECONOMICS - EC4

uestion Answer Mark Assessment
Q allocation objective
1(a) | With reference to figure 3 explain the costs of high 8 AO14
unemployment to countries such as Greece and AO2 4

Spain.
Level 1.

Identification of at least TWO factors to a maximum of
FOUR:

e Lost output of goods and services/lower GDP/lower

long run growth.

e Reduced profits of firms thus less

investment/innovation/loss of dynamic efficiency.
e Waste of scarce economic resources/links to PPF.

e Fiscal costs to the government (higher government

spending/lower tax revenues).

o Deadweight loss of investment in human

capital/de-skilling/hyseteris/increase in the natural

rate of unemployment.

e Links to social and economic deprivation/relative

poverty/crime and income inequality. (1-4)
Level 2.
Up to 4 for each factor to maximum of 4 factors
2 marks for a relevant integrated diagram.
PPF/link to Pareto inefficiency.

Or an AD/AS diagram/

Figgre 7-7 Macroeconomic Equilibrium
During a Recession

&
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5
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¥
2
=
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P, |
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| Ye

1
Y Output (Y)
Two well explained factors 8 marks (4 marks each)
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: Mark Assessment
Question Answer allocation objective
1(b) Explain why potential Eurozone members have to 8 AO14
meet the convergence criteria described in figure 2. AO24

Level 1 (1-4)

Identification of TWO reasons linked to the criteria below:

» an inflation rate no more than 1.5 percentage points
above the average of the three countries with the
lowest inflation rates

* nominal long-term interest rates not exceeding by more
than 2 percentage points those for the three countries
with the lowest inflation rates

* no exchange rate realignment for at least two years

* agovernment budget deficit not in excess of 3 percent
of each country’'s GDP

» agross debt to GDP ratio that does not exceed 60
percent of GDP

Or

A general explanation of convergence linked back to the
Eurozone is also worth up to 4.

Level 2.

Explanation of reasons (5-8)

At least one specific criterion must be developed for
level 2.

Price stability will help ensure that

(a) New member states do not suffer from falling
competitiveness relative to Germany (b) prevent the euro
from being undermined.

Also it makes it more likely that the single interest rate will
be able to cover a wider range of member states; if
inflation rates are wildly divergent, a single interest rate
won’t work.

Sound public finances will also reduce the need for bail-
outs, prevent contagion hence preventing increases in
borrowing costs for other euro zone states.

Long-term interest rates will also help to ensure that there
is no shock on joining the zone when yields will converge
as a result of the one size fits all policy.

Exchange rate stability helps to ensure that countries are
joining at an appropriate rate, ensuring that they do not
lock into a currency that will be permanently over or under
valued, hence preventing (for example) competitiveness
issues if joining at an overvalued rate.

Up to 4 for each criterion covered in detail (Deficit/debt is
one criterion/stability and growth pact.)

© WJEC CBAC Ltd.

57






Mark

Assessment

Question Answer h o
allocation objective

1(c) ‘Countries such as Greece should leave the euro if 12 AO3 6

they want to boost economic growth and reduce AO4 6

unemployment’. Discuss.

Level 1 (1-2).
Identification of two factors:
¢ Independent monetary and fiscal policy.
¢ Freedom to devalue foreign exchange rate.

Level 2 (3-6).
Explanation of above factors — up to 3 per factor
o Relaxed monetary policy, reflationary fiscal policy
and a low exchange rate would increase AD
boosting growth and employment.
¢ Internal devaluation would take far too long/painful
austerity could be abandoned.

¢ Lower exchange rate would boost tourism and FDI.

Greece would still benefit from the single market of
the EU.

e Lack of competitiveness against Germany when
using the same currency.

Level 3.
Evaluation (7-12):
o Greece needs to tackle fundamental supply side
problems to solve a lack of competitiveness.
¢ Internal economic reform needed.
Costs of creating a new currency. Panic in the
banking sector.
o A devalued Greek currency would increase the
price of imports causing inflation.
e Many of the Greek economic problems are not
related to the euro ie poor tax collection. (7-12)
Two evaluation points required up to 3 per point.

Levels 2 and 3 are reversible.

© WJEC CBAC Ltd.
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Mark

Assessment

Question Answer allocation objective
1(d) | The ‘enlargement of the EU benefits both new and 12 AO3 6
existing members’ (line 9). Discuss. AO4 6

Level 1.
Identification of at least TWO factors.

e Access to SEM new members/enlargement of
SEM for existing members- trade creation.

e Free movement of capital and labour-more
efficient allocation of resources. Bigger pool of
labour to recruit from. (new/existing)

Access to EU structural funds (new members)
Attracts FDI (new and existing members).

e Benefit to individuals is the freedom to travel, live,
work, study and retire anywhere in the EU. (new)

e Common/higher standards for
health/safety/environment. (new)

e Deregulation/liberalisation of some markets (air
travel/telecoms)

¢ EU provides social protection for workers: working
time; temporary work; and parental leave. (new)

¢ New EU members have to join the euro which has
significant advantages (transactions costs etc) (1-
2)

Level 2 (3-6).
Explanation of at least two factors. (up to 3 per factor).

Level 3.
Evaluation (7-12).

e Structural change for new member economies have
to adjust to new trade patterns as many industries in
new member states will not be able to compete with
lower costs in more advanced EU members.

e Migration of labour can have negative effects on
both new and existing members.

e EXxisting members have to make bigger EU budget
contributions to support new/poorer members.
Cheap imports damage domestic industry.

New members have to comply with EU directives
they may not approve of/loss of sovereignty/over-
regulation/bureaucracy.

e New EU members are committed to Eurozone
membership and have to meet tough pre-entry
criteria.

Trade diversion resulting from the common external tariff.
(new) (7-12)

A Level 3 answer requires mention of the effects of
enlargement on existing and new members. Also answers
should not merely become a case for and against becoming
a member of the EU.

Maximum 8 marks for existing members and 8 marks new
members.

Maximum 3 marks for each evaluated point explained.

Levels 2 and 3 are reversible.

© WJEC CBAC Ltd.
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Sticky Note

A slightly over long introduction.
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Sticky Note

Two points made with a need for a little more development perhaps. A good overall answer.



Sticky Note

A good understanding of the importance of convergence of inflation rates succinctly put.
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Sticky Note

The importance of the rules on public sector debt and exchange rates are not convincing and needed development and clarification.










SECTION A

Answer one question from this section.

1. Study the information below and then answer the questions that follow.

CHALLENGING TIMES FOR THE EUROZONE.

Figure 1.

L
European Union countries’
currency status

. b,

[l Euro area 3
B Currency pegged to euro b
D Floating Currency

A

LATVIA
LITHUANIA
y

Sy POLAND
3 K GERMANY {
Atlantic Ocean ] LUX. CZECH

- REP. M
B FRANCE q «“‘P‘ ’ 2
J

_ S HUNGARY
SLOVENIA 2 ——

Mediterraneg " Seq

' A, i
SOOKmM? S~MALTA " wevmpas CYPRUSI

Source: The Economist (adapted)

When the UK joined the European Union in 1973 many people in Britain thought that the country
was merely joining a free trade area. However, even back in 1973 it was a customs union; and
now the EU has developed into the Single European Market. The single market is not complete

5 yet and there are plans to create an internal market for energy and a single digital market.
Croatia joined the European Union in 2013 and other Balkan countries such as Macedonia and
Bosnia will join in subsequent years. New members gain open access to an export market of
over 500 m people comprising 28 countries which account for 20% of global GDP. According to
many economists enlargement of the EU benefits both new and existing members.

© WJEC CBAC Ltd. (1134-01)
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All new members of the EU are committed to eventually joining the single currency, the euro.
Being part of economic and monetary union (EMU) and preparing to join the Eurozone means
that countries have to meet five economic convergence criteria (Figure 2). Latvia joined the
Eurozone in 2014. Only the UK and Denmark have ‘opt-outs’ from Eurozone membership. By
2014 18 of the 28 EU member states had joined the Eurozone, with Lithuania likely to join in
2015. By 2014 the euro had become an established reserve currency alongside the dollar and
the yen but the financial crisis and the recession have put severe strain on the Eurozone in
recent years.

Spain and Ireland suffered banking crises and Portugal and Greece have had government
borrowing problems with their fiscal (budget) deficits and public sector debts over the last few
years. In June 2012 Spain became the fourth country in the 17-nation Eurozone to require a
financial bailout from the EU after Greece, Ireland and Portugal. Mario Draghi, head of the
European Central Bank, has said he will do “whatever it takes” to save the single currency. In
October 2012 euro area finance ministers introduced a permanent lending facility for members
in trouble. It may well be needed as the Greek public sector debt reached 175% of GDP by the
end of 2013, an unsustainable burden to the Greek economy.

Figure 2 — The five convergence criteria for Eurozone members.

1 2 3 4 5

What is
measured:

Price stability | Sound public

finances

Sustainable Durability of
public finances | convergence

Exchange rate
stability

Consumer Budget deficit | Government Long-term Deviation from

How it is
measured:

price inflation
rate

as % of GDP

public sector
debt as % of
GDP

interest rate

a central rate

Not more than

Not more than

Not more than

Not more than

Stable

Convergence
criteria:

1.5 percentage | 3% of GDP
points above
the rate of

the three best
performing
member states

60% of GDP | 2 percentage
points above
the rate of

the three best
performing
member states
in terms of

price stability

exchange
rates against
the euro for
two years prior
to entry

30

Source: European Commission.

Countries across the Eurozone have been trying to get their government finances back in
line with the convergence criteria shown in Figure 2 by raising taxes and cutting government
expenditure. These so-called austerity programmes have arguably made the already high
unemployment across the Eurozone even worse, provoking protests on the streets in Spain
and Greece. Many euro critics think that the euro is doomed and say that the ‘one size fits all’
interest rate set by the European Central Bank (ECB), for 18 different economies with varying
levels of unemployment is just plain crazy (Figure 3).
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Figure 3 — Record breaking Eurozone unemployment (%) 2013.
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Source: Eurostat

Eurozone growth rates have been poor in recent years compared with other developed
economies. Many supporters of the euro say that the low growth and high unemployment among
Eurozone countries cannot be blamed solely on EMU. Instead inflexible labour markets, poor
regulation of banking sectors and a fundamental lack of competitiveness in many countries is
the real problem. The euro is arguably a politically driven project and its supporters will stop at
nothing to preserve it, but for how long?

(@) With reference to Figure 3 explain the costs of high unemployment to countries such as
Greece and Spain. [8]

(b) Explain why potential Eurozone members have to meet the convergence criteria described
in Figure 2. [8]

(c) ‘Countries such as Greece should leave the euro if they want to boost economic growth
and reduce unemployment.’ Discuss. [12]

(d)  The ‘enlargement of the EU benefits both new and existing members’ (line 9). Discuss.
[12]

© WJEC CBAC Ltd. (1134-01)
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Question Answer aII(’\)Acagtl?on Ai?)?(ismim
2(a) | With reference to the data and figures 1 and 2 explain 8 AO14
the changes to the Royal Mail’'s revenue and profit. AO24
Level 1 (1-4):
e Recognition that overall revenue and profits have
risen.
Change in balance between letters and parcels
e Both letters and parcels have contributed to the
rise in revenue.
e For 4 marks in this level the data will have been
directly used. (1-4)
Level 2 (5-8):
¢ Revenue from letters has risen despite the fall in
volumes,
e Reference to price of stamps rising and price
inelastic demand (1-2).
e Profits could have risen due to lower costs because
of efficiency gains (1-2)
e Use of data on automated sorting (1-2).
e Growth in parcels revenue/profits due to on line
shopping (1-2). (5-8)
e MC pricing leads to losses in natural monopoly
(e.g. 2011)
6 max if only revenue or profits are covered.
2(b) | With reference to the data explain why the Royal Mail’s 8 AO14
letter delivery service can be said to be a ‘natural AO24

monopoly’?

Level 1 (1-4):

Understanding of a natural monopoly with reference to
economies of scale as a result of high market share.

Or

Explanation of why Royal Mail is a pure monopoly with
letter delivery (rather than a natural monopoly) i.e. barriers
to entry etc. (1-4)

Level 2 (5-8):

e Application of figure 3.

e USO could not be met without a very high market
share (60%) (2).

¢ High fixed costs in distribution

o Reference to cherry picking in a competitive market
(2).

o Data reference to duplication etc. when there is
competition (e.g. Multiple post boxes would be
inefficient)(2).

© WJEC CBAC Ltd.
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Question Answer Marlf ASS‘?SS’T‘e”t
allocation objective
2 marks for a relevant integrated diagram.
£AC
Economies of Scale
£17
£9
LRAC
D
3,000 10,000 Q
www.economicshelp.org
2 (c) | Evaluate the case for and against the privatisation of 12 AO3 6
the Royal Mail. AO4 6

Level 1 (1-2):

Identification of reasons for privatisation, easier for the
Royal Mail to raise finance, reduce the fiscal deficit, make
postal services more efficient (more pressure to reduce
costs), changes in the way people communicate make it
unnecessary to operate a state owned monopoly,
privatisation is a supply side policy (use of AD/AS
analysis).

Reduce the power of trade unions. Postal workers given
shares (motivational benefits) (1-2)

Level 2 (3-6):
Explanation of at least two reasons. (up to 3 per point)

Level 3 (7-12):

e Deterioration in quality of service/possible end of
USO.

¢ Royal Mail is a profitable business (use of data)
so why sell it off?
Rise in stamp prices-the price regulation of

e stamps has been scrapped to increase the
attractiveness of Royal Mail to investors.

¢ The Royal Mail is a strategic industry and should
owned by the state to be run in the national
interest.

e Job security of postal workers will deteriorate.
Royal Mail was sold too cheaply.

Max 3 marks for each evaluated point explained.
Level 2 and 3 are reversible.

© WJEC CBAC Ltd.
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: Mark Assessment
Question Answer allocation objective
2 (d) | ‘'Once the Royal Mail is privatised and the UK market 12 AO3 6
for letters and parcels is completely open to AO4 6

competition there will be no need for Ofcom to
regulate the market’. Discuss this statement.

Max 3 mark for each developed argument on either side of

the debate.

Level 1 (1-2):

Identification of at least two factors which suggest that
increased competition will benefit consumers. (1-2)
Level 2 (3-6):

Explanation of the benefits of increased competition:
increased quality and choice, lower costs, more
innovation etc.

Role of regulator explained and thus

its role is diminished ie no price caps. (up to 3 per point)
Excessive regulation may depress profits reducing
investment.

Regulation may be ineffective, danger of regulatory
capture.

Level 3 (7-12):

Evaluation: despite a competitive market there may still
be tacit collusion/price leadership, complex pricing,
asymmetry of information issues and insufficient
contestability.

Royal Mail is so large that it will always be dominant,
hence regulation needed to ensure that competition does
in fact continue.

Privatisation doesn’t guarantee competition.

Evidence from sectors that are theoretically competitive,
but still need regulating (such as rail and energy).

Levels 2 and 3 are reversible.

Max 3 marks for each evaluated point explained.
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Sticky Note

The candidate makes good use of the data. Successful answers to this question made perceptive calculations from the revenue and profit figures.



Sticky Note

A good point.



Sticky Note

Demand for stamps may be price inelastic leading to a rise in revenue.
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Sticky Note

The candidate understands monopoly but shows no understanding of the meaning of a natural monopoly.
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Sticky Note

Fiscal benefits of privatisation.



Sticky Note

Increased efficiency in the private sector.
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Sticky Note

Both sides of the argument were covered but greater depth was needed for a higher mark. The introduction was rather long considering that this is a data question not an essay.



Sticky Note

A good case is made for regulation.
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Sticky Note

New paragraph here.



Sticky Note

The case for no regulation is much weaker and consequently depresses the final mark.



Sticky Note

This is a good answer with a two sided argument but the case made against regulating the Royal Mail is rather weak.










Study the information below and then answer the questions that follow.
PRIVATISATION OF THE ROYAL MAIL.

The Royal Mail traces its roots to a service founded by Henry VIl in 1516. Almost 500 years later,
after several false starts, the Coalition Government has finally privatised the Royal Mail selling
60% of its ownership to private shareholders and another 10% being given in shares to postal
workers. The sale of the company will raise around £2bn for the government helping to reduce
the ever increasing public sector debt. The entry of the Royal Mail on to the Stock Exchange
as a PLC in 2013 is the biggest privatisation for twenty years and is highly controversial. Even
Mrs Thatcher, the architect of the 1980s privatisations of gas, electricity, water and the railways
drew back from the privatisation of the Royal Mail.

The government argues that once the Royal Mail is in the private sector it will have better access
to capital, enabling it to adapt to falling letter volumes and its growing parcels business. The
government also say that the Royal Mail must continue to modernise so as to reduce its costs
further. This is despite significant recent investment in new technology in the sorting process.
Letter volumes have been hit by email, texting and social networking sites and not helped by the
rise in price of a first and second class stamp (Figure 1).

Figure 1 — First and second class stamp prices from 2000-2012

Price (p)
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Source: RoyalMail

The privatised Royal Mail will still be obliged to provide the ‘universal service obligation’ which
means every UK household is guaranteed a postal delivery on six days a week. Letters will
also be priced the same whether they are being sent 2 miles or 200 miles in the UK. This is
all overseen by the regulator, Ofcom. The problem for the Royal Mail is that it already has stiff
competition from private firms in its letters business. In 2012 for instance, TNT handled 3.8
billion letters, compared with 1.1 billion in 2006 and UK Mail handled around 2.7 billion. These
rivals can simply ‘cherry pick’ the best bulk mail contracts, such as those from banking giants,
without ever having to worry about getting a loss making second-class postcard from Cornwall
to Carlisle, for example. Many of Britain’s biggest companies including Barclays, Tesco, Sky and
TalkTalk use the services of the Royal Mail's competitors. The Royal Mail delivers around 18
billion letters a year but many of these are first collected and sorted by TNT and UK Mail.

With letter volumes falling it is the Royal Mail’s parcels sector that is growing, fuelled in part
by the popularity of online shopping. Indeed the Royal Mail is increasingly becoming a parcel
delivery service and with its rivals DHL and UPS already in the private sector it seems logical
for it to join them.

© WJEC CBAC Ltd. (1134-01)





Figure 2 — Royal Mail (key data)

Growth rates Revenue
o : Annual % change : 2011 2012 2013
Royal Mail : :
T : B :
. Parcels Letters : = £8.4bn £8.8bn £9.3bn
Sources of 9o, :
revenue :
2013
4% 39,
: Profit
: £150m
B Revenue
Marketing: ¥ Volume :
Total £9.3bn mail -8% 2011 2012 2013

Source: Royal Mail

However, the sale of the Royal Mail is opposed by postal workers with their trade union, the
CWU, threatening strike action. Postal workers being offered free shares in the new company
leaves the union unimpressed fearing that the inevitable efficiency savings after privatisation will
involve reducing the 150,000 strong workforce. In addition many believe that it will be hard to
see the universal service obligation surviving although it could be subsidised from the parcels
business. Critics also say that the privatisation of the Royal Mail threatens to repeat the mistakes
of the sell-off of the railways: a natural monopoly sold off for the sake of a quick profit. The
privatisation of mail services elsewhere in Europe does not inspire confidence for the Royal Malil
sale according to The Guardian newspaper which reports that Holland has four different post
companies competing to nobody’s benefit.

Figure 3 — Economies of scale in postal deliveries

Unit cost of delivering an average letter

£5.20
£4.55
£3.90
Unit £3.25
costs £2.60
£1.95 \

\
£1.30
£0.65 N

~—

0 20 40 60 80 100
UK market share %
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Is there a danger in the UK of having several different post boxes on our streets for competing
mail companies who all deliver separately to our homes? In 2012 TNT embarked on a limited
trial of delivering post to the doorstep using 400 delivery workers on bicycles to serve 250,000
households in West London.

@

(b)

(c)
(d)

With reference to the data and Figures 1 and 2 explain the changes to the Royal Mail’'s

revenue and profit. [8]
With reference to the data explain why the Royal Mail’s letter delivery service can be said
to be a ‘natural monopoly’. [8]
Evaluate the case for and against the privatisation of the Royal Mail. [12]

‘Once the Royal Mail is privatised and the UK market for letters and parcels is completely
open to competition there will be no need for Ofcom to regulate the market.” Discuss this
statement. [12]

© WJEC CBAC Ltd. (1134-01)
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SECTION B

Answer one question

The following levels should be applied to each question.

LEVEL

MARK BAND

DESCRIPTOR

Level 1

Candidate makes few, if any, relevant points. There may be
some attempt to draw conclusions, but understanding of
connections between different areas of subject content is
limited or not demonstrated.

Information is poorly organised. There is limited use of
specialist terminology/vocabulary and frequent errors in
spelling, punctuation and grammar.

Level 2

6-10

Candidate makes some valid points using relevant economic
concepts and theories. There may be some application with
valid conclusions drawn. Some ability to make connections
between different parts of the subject content is demonstrated.

Information is well organised and ideas are expressed in a
logical manner. There is good use of specialist
terms/vocabulary with some errors in spelling, punctuation and
grammar, but these are not intrusive.

Level 3

11-15

Candidate shows good knowledge and understanding of
economic concepts and theories. There is good application
and analysis with solid logical conclusions drawn. The ability to
make connections between different parts of the subject
content is demonstrated on several occasions.

Information is very well organised and argument is expressed
clearly and coherently. There is good use of specialist
terms/vocabulary and spelling, punctuation and grammar are
generally accurate.

Level 4

16-20

Candidate demonstrates excellent knowledge, understanding,
analysis and evaluation using economic concepts and theories.
The ability to synthesise and make connections between
different parts of the subject content is fully demonstrated
throughout the answer.

Information is very well organised and the form and style of
communication is highly appropriate, using specialist
terms/vocabulary with facility. There is very good use of
specialist terms/vocabulary with few, if any, errors in spelling,
punctuation and grammar.

© WJEC CBAC Ltd.
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Question Answer allg/lceiartii(on Azsbej}esst?\]/im
3 How far do you agree with the view that the only cause 20 AO14
of inflation is an excessive growth of the money AO2 4
supply? AO3 6
AO4 6

Explanation of the quantity theory of money
(MV=PT).

In normal economic circumstances, if the money
supply grows faster than real output it will cause
inflation.

Inflation is always a monetary phenomenon/cost
push and demand pull are symptoms of excessive
monetary growth.

Former governor of the Bank of England, Mervyn
King said that M4 was an important variable for
influencing monetary policy. Negative M4 growth
was a key factor in the justification for more
guantitative easing, and recent attempts to bolster
bank lending.

Evaluation:

In a depressed economy (liquidity trap) the money
supply/inflation correlation breaks down because of
a fall in the velocity of circulation. This is why in a
depressed economy Central Banks can increase
the money supply without causing inflation. This
occurred in the US between 2008 and 2011. There
was a large increase in money supply but no
inflation.

However, when the economy recovers and velocity
of circulation rises, increased money supply is
likely to cause inflation.

Quantity theory of money is a tautology. QE link to
money supply and inflation not proven from
evidence.

V and T are not stable thus a rise in M may not
directly affect P.

Very weak link between money supply and
inflation. The relationship between money supply
and inflation has always been weak. Money supply
can vary due to changes in the way of managing
bank accounts and money.

Difficult to define exactly what is the money supply
(MO, M3 M4 etc)

© WJEC CBAC Ltd.
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Question

Answer

Mark
allocation

Assessment
objective

¢ Explanation of why inflation can be caused by cost
push and demand pull factors: especially cost push
in recent years (commodities and government
policies such as rises in indirect taxes/tuition fees)
Max 14 without evaluation.

Max 4 marks for each evaluated point explained.

2 marks for a relevant integrated diagram.

PL LRAS

|- \

N\
.

¥l Y

Real GDP
www.economicshelporg

Reversible answer.

L4 requires an evaluated answer which shows
understanding whether of the quantity theory or a robust
understanding of the QE process.

L2 only (max) if no explanation at all of the links between
money and inflation.
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Sticky Note

Lots on the effects of inflation which is not really relevant.
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Sticky Note

A good explanation of MV=PT.



Sticky Note

Other causes of inflation examined.
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Sticky Note

Some good diagrams here.
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Sticky Note

A good answer but a top mark would have looked at some of the limitations of MV=PT.










SECTION B

Answer one question from this section.

3. How far do you agree with the view that the only cause of inflation is an excessive growth of the
money supply? [20]
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. Mark Assessment
Question Answer allocation objective
4 ‘A current account deficit on the balance of payments 20 AO14
should be a major concern to the government.’ AO2 4
Evaluate this statement. AO3 6
AO4 6

Identification and explanation of factors:

Current account in balance is a macroeconomic
objective.

A current account a/c deficit leads to a fall in AD
causing lower growth and rising unemployment.

A deficit is a sign of a lack of
competitiveness/linked to low economic growth and
high unemployment.

Deficit could lead to a depreciation of the currency
and cause a rise in import prices and inflation.

A large current account deficit usually implies some
kind of imbalance in the economy.
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Question

Answer

Mark
allocation

Assessment
objective

Financing a deficit on the current account means a
surplus on the financial account and this means
that a higher proportion of assets are owned by
foreigners.

Higher interest rates needed to attract inflows of
‘hot money’ to make balance of payments balance.

Country with severe deficits could run out of foreign
exchange reserves and need IMF help.

Evaluation.

Deficit on the current account can be financed a
surplus on the capital/financial account. This
depends on the nature of the financial/capital
account surplus.

(a) Central Bank purchases.

(b) Short term inflows - cash, bond purchases,
share purchases, property purchases, each of
which may have different effects.

(c) Long term inflows of FDI which may be far
more favourable.

In a floating exchange rate system the current
account is self-correcting but this depends on the
price elasticity of demand for exports and imports.
(Marshall —Lerner condition).

Depends how big the deficit is as a % of GDP/how
persistent/is it related to the trade cycle i.e. cyclical
and not structural?

How much of the deficit is down to an underlying
competitiveness issue or an over-valued exchange
rate problem?

Depends on what is being imported-capital
goods/raw materials help economic growth.

Other objectives may mean that the current a/c
deficit is not the major concern.

Maximum 14 without evaluation.
Max 4 marks for each evaluated point explained.

2 marks for a relevant integrated diagram.
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Sticky Note

A good introduction.
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Sticky Note

A good point on the effect of a trade deficit on aggregate demand and employment.
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Sticky Note

Policies to deal with the deficit are not relevant.
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Sticky Note

This evaluative point could have been developed. What % of GDP does the current account deficit have to be before it becomes a concern?



Sticky Note

The essay starts well but drifts into irrelevance on policies to deal with the deficit. Evaluation was rather weak. A low Level 3 answer.










SECTION B

Answer one question from this section.

4. ‘A current account deficit on the balance of payments should be a major concern to the
government.” Evaluate this statement. [20]

© WJEC CBAC Ltd. (1134-01)
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Question Answer Marl_( ASS‘?SS’?“em
allocation objective
5 Evaluate the different policies which less developed 20 AO14
countries can use to achieve economic development. AO24
AO3 6
Economic development means an improvement in AO4 6

economic welfare through higher real GDP, but also
through an improvement in other economic indicators,
such as improved literacy, better infrastructure, reduced
poverty and improved health care standards.

Identification, explanation and evaluation of factors:

Government interventionist supply side policies - increased
spending on ‘public goods’ such as education, public
transport, infrastructure and health care.

But problems with low tax revenues and ‘bad’ government.

Export Oriented Development — Reduction in tariff barriers
and promoting free trade as a way to improve economic
development.

But tariff barriers from trade blocs such as the EU and
NAFTA remain a barrier to free trade for LDCs. Better to
promote import substitution.

Diversification away from agriculture to manufacturing as a
way to promote economic development. Primary products
have volatile prices with unpredictable incomes for
producers.

But countries with a poor basic level of infrastructure
struggle to make effective use of capital investment in
manufacturing. Some argue government attempts to
encourage manufacturing industry are often ineffective as
they have poor information about best kinds of industries
to promote as well as corruption by some governments.

Assistance from international institutions: e.g. the World
Bank is committed to the reduction of poverty in
developing countries. It offers long term loans for capital
programs.

But their policies have been criticised ie structural
adjustment policies.
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Question

Answer

Mark
allocation

Assessment
objective

Foreign Aid can help boost capital investment in schemes
which improve economic development.
But it depends on the type of foreign aid

Foreign Direct Investment (FDI) LDCs can benefit from
improved knowledge and expertise of foreign multinational
higher wages and improved working conditions, also
employment and balance of payments benefits.

But FDI may be a convenient way to bypass local
environmental laws. Developing countries may be tempted
to reduce environmental regulation to attract the necessary
FDI. FDI does not always benefit recipient countries as it
enables foreign multinationals to gain from ownership of
raw materials, with little evidence of wealth being
distributed throughout society.

Import substitution industrialisation (ISI): active industrial
policy to subsidize and orchestrate production of strategic
substitutes, protective barriers to trade (such as tariffs), an
overvalued currency to help manufacturers import capital
goods (heavy machinery), and discouragement of foreign
direct investment

But often these policies lead to inefficiency within domestic
markets and growth slowed when the size of the domestic
market was reached meaning that they were most
successful in countries where domestic economies were
biggest (e.g. Brazil).

Non-interventionist supply-side - liberalisation:

The use of free market policies to stimulate competition
and growth. Internal - privatisation, deregulation and cuts
in public spending to promote enterprise and stimulate
growth. Externally, reductions of protectionism and floating
the currency (generally devaluing) to increase growth.
Hence classic supply-side policies. In theory efficiency
increases, hence growth is created.

But cuts in government spending may hit health and
education, one sided/unilateral free trade can lead to
dumping by MEDCs and other LEDCs, devaluation drives
up the costs of essential imported goods, privatisation may
prove difficult to implement effectively unless there is
strong institutional strength.

Maximum 14 without evaluation.

At least THREE well evaluated policies for maximum
marks

2 marks for a relevant integrated diagram.

L4 requires relevant use of a country-specific example.
L4 requires relation back to living standards.

GCE Economics MS Summer 2015
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Sticky Note

Policies are explained and there is some evaluation but there needs to be a link to how quality of life and living standards are affected.
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Sticky Note

Fiscal policy is explained rather as if the question was about developed economies.



Sticky Note

To gain high marks the answer needs to focus on policies which are appropriate for LEDCs and relevant country specific examples should be introduced. This answer is typical of many being rather weak in these areas. Hence the answer gains a low level 3 mark.











SECTION B

Answer one question from this section.

5. Evaluate the different policies which can be used to achieve economic development in less
developed countries. [20]
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